
1. The paper consists of three sections :-
Science (15 Questions), Mathematics
(10 Questions) and Mental abil ity
(15 Questions).

2. All questions are compulsory and carry four
marks each. One mark is deducted for wrong
answer.

SCIENCE

MOTION TALENT SEARCH EXAMINATION

DURATION: 60 MINUTES TOTAL QUESTIONS: 40   MAXIMUM MARKS : 160

SAMPLE PAPER

CLASS : 8th

Comprehension/Passage (Q.1 & 2): The average
weather pattern taken over a long time, is called
the climate of the place. The tropical and the polar
regions are the two regions of the earth, which have
severe climatic conditions. Climate is the average
weather of an area. Temperature and rainfall are
two most important factors which effect the climate
of an area. Microclimate represents the climatic
conditions which are present at local scale.
Macroclimate represents the climatic conditions
which are present at large scale. Forest is an example
of macroclimate. The Ecological niche of an organism
represents the range of conditions that it can tolerate,
the resources it utilises, and its functional role in
the ecological system. Each species has a distinct
niche, and no two species are believed to occupy
exactly the same, niche.
1. Each species have distinct:

(A) Ecosystem (B) Biome
(C) Habitat (D) Niche

2. Climate at a small area, can be termed as:
(A) Macro climate (B) Micro climate
(C) Weather (D) All

3. The plant that feeds & traps on insects is -
(A) Drosera (B) Sunflower
(C) Cuscuta (D) Mango

3. There is only one correct answer hence mark
one choice only.

4. Darken your choice in OMR Sheet with Blue/
Black Ball Point Pen.

5. Return the OMR Sheet to the invigilator at
the end of the exam.

vuqPNsn@x|ka'k (Q.1 & 2): ,d yEcs le; esa cuk ekSle dk

izk:i] ml LFkku dh tyok;q dgykrk gSA m".kdfVca/kh; rFkk /kqzoh;

{ks= ìFoh ds nks {ks= gS ftudh dqN tyok;q voLFkk gksrh gSA tyok;q

fdlh {ks= dk vkSlr ekSle gSA ,d {ks= dh tyok;q dks izHkkfor djus

okys nks izeq[k dkjd rkieku vkSj o"kkZ gSA lw{etyok;q] LFkkuh; {ks=

esa mifLFkr tyok;q voLFkkvksa dks fu:fir djrh gSA ògntyok;q] cM+s

{ks= esa mifLFkr tyok;q voLFkkvksa dks fu:fir djrh gSA taxy ògn

tyok;q dk ,d mnkgj.k gSA ,d tho dk ikfjfLFkfrdh; vkyk] fLFkfr

dh lhek ftls og cnkZ'r dj ldrk gS rFkk mu lalk/kuksa dk ftudk

og mi;ksx djrk gS] vkSj ikfjfLFkfrdh ra= esa mldh dk;kZRed Hkwfedk]

dk fu:i.k djrk gSA izR;sd iztkrh dk ,d fuf'pr vkyk gksrk gS] rFkk

dksbZ nks iztkrh;k¡ leku vkys dks vf/k/kkfjr ugha dj ldrh gSA
1. gj iztkfr dk fuf'pr gksrk gS&

(A) ikfjfLFkfrdh ra= (B) ck;kse
(C) vkokl (D) vkyk

2. ,d NksVs LFky dh tyok;q dgykrh gS&
(A) ògn~ tyok;q (B) lw{e tyok;q
(C) ekSle (D) lHkh

3. dhVks dks Hkkstu ds :i esa xzg.k djus okyk ikni gS&

(A) Mªkslsjk (B) lwjteq[kh
(C) dlD;wVk (D) vke
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4. CO2 & O2 balance in atmosphere is due to -

(A) Photorespiration

(B) Photosynthesis

(C) Respiration

(D) Leaf anatomy

5. Hibernation, migration to suitable places
and insulation of the body by fur or
feathers are characteristics of

(A) polar animals
(B) animals of temperate regions

(C) animals of tropical regions
(D) animals of equatorial regions.

6. Nichrome is used for making

(A) the filaments of bulbs

(B) fuse wires

(C) heater elements

(D) coils for electromagnets

7. The diagram below shows two incident rays
P and Q which emerge as parallel rays R and
S. The appropriate device used in the box A
is-

RP

Q S

(A) convex lens (B) concave lens

(C) prism (D) concave mirror

8. Which is the best conductor ?

(A) Carbon (B) Copper

(C) Iron (D) Aluminium

9. Which of the following is a natural luminous
source of light ?

(A) Sun (B) Wood

(C) Electric lamp (D) Torch

10. Air moves from a region of ——— pressure to
a region of——— pressure.

(A) High , low (B) Low, high

(C) High, high (D) Low, low

11. One of the following is a medicine for
indigestion:

(A) Sodium hydroxide

(B) Magnesium hydroxide

(C)  Potassium hydroxide

(D) Manganese hydroxide

4. okrkoj.k esa CO2 vkSj O2 dk larqyu izkIr gksrk gS &

(A) izdk'kh; 'olu

(B) izdk'k la'ys"k.k

(C) 'olu

(D) i.kZ lajpuk

5. 'khrfunzk vkSj mi;qDr LFkku ij LFkkukarj.k rFkk Qjksa rFkk

ia[kksa ds }kjk 'kjhj ds bUlqys'ku fo'ks"krk,¡ gS &

(A) /kzqoh; tUrq dh

(B) 'khrks".k bykdksa ds tUrq dh

(C) m".kdfVca/kh; bykdksa ds tUrq dh

(D) Hkwe/; js[kk ds bykdksa ds tUrq dh

6. fuØkse iz;ksx fd;k tkrk gS &

(A) cYcksa ds rarq cukus ds fy,

(B) ¶;wt rkj cukus ds fy,

(C) ghVj vo;o cukus ds fy,

(D) fo|qr pqEcd dh dq.Myh cukus ds fy,

7. uhps fn[kk;s fp= esa nks vkifrr fdj.ksa P rFkk Q gS tks
lekUrj fdj.kksa R vkSj S ds :i esa fudyrh gSA cDls A esa
iz;qDr mfpr midj.k gS &

RP

Q S

(A) mÙky ysal (B) vory ysal

(C) fizTe (D) vory niZ.k

8. fuEu esa ls dkSulk mÙke pkyd gS ?

(A) dkcZu (B) dkWij

(C) yksgk (D) ,Y;qfefu;e

9. fuEufyf[kr esa ls dkSulk izdk'k dk izkd`frd nhIr L=ksr gS&

(A) lw;Z (B) ydM+h

(C) fo|qr ysEi (D) VkspZ

10. gok ______ nkc ds {ks= ls ______ nkc ds {ks= dh vksj
pyrh gSA

(A) mPp] U;wu (B) U;wu] mPp

(C) mPp] mPp (D) U;wu] U;wu

11. fuEu esa ls ,d tks [kV~Vh Mdkj ¼cngteh½ ds fy;s
vkS"kf/k gS &

(A) lksfM;e gkbMªksDlkbM

(B) eSXuhf'k;e gkbMªksDlkbM

(C)  ikSVsf'k;e gkbMªksDlkbM

(D) eSXuht gkbMªksDlkbM
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12. Jute fibre is obtained from the ________ of

jute plant.
(A) leaves (B) seeds
(C) roots (D) stem

13. A soap solution is
(A) acidic (B) alkaline
(C) neutral (D) None

14. Valency is always a :
(A) whole number (B) fractional number
(C) decimal number (D) none of these

15. In which of the following processes is light
absorbed ?
(A) Sublimation (B) Burning
(C) Rusting (D) Photosynthesis

MATHEMATICS

16. If AB = BC = CD then find the perimeter of
adjoining figure.

A DC
B 7cm

7cm

(A) 58m (B) 
44 m
7

(C) 142m (D) None of these

17. The denominator of a fraction is greater than
numerator by 6. If 3 is added to numerator
and 2 is subtracted from denominator, the

fraction becomes 
6
7

, then the equation so

formed is:

(A) 
x 4 6
x 3 7





(B) 
x 3 6
x 4 7





(C) 
x 3 6

x 6 2 7
 

 
(D) 

x 2 6
x 6 3 7


 



18. Co-prime number is:

(A) (3, 6) (B) (7, 8)

(C) (3, 9) (D) None of these

19. Reciprocal of
1
7

 is:

(A) 7 (B) 1

(C) –7 (D) 1/7

16. ;fn AB = BC = CD gS,  rc laxr vkdf̀r dk ifjeki

Kkr dhft, &

A DC
B 7cm

7cm

(A) 58 eh- (B) 
44
7

eh-

(C) 142 eh- (D) buesa ls dksbZ ugha

17. ,d fHkUu dk gj] va'k ls cM+k gS tks fd 6 gS] ;fn va'k esa  3
tksM+ fn;k tk, rFkk gj ls 2 dks ?kVk fn;k tk,] rks fHkUu

6
7

 gks tkrk gS] rc cuh lehdj.k gksxh &

(A) 
x 4 6
x 3 7





(B) 
x 3 6
x 4 7





(C) 
x 3 6

x 6 2 7
 

 
(D) 

x 2 6
x 6 3 7


 



18. lgHkkT; la[;k gksxh &

(A) (3, 6) (B) (7, 8)

(C) (3, 9) (D) buesa ls dksbZ ugha

19.
1
7

 dk O;qRØe gksxk &

(A) 7 (B) 1

(C) –7 (D) 1/7

12. twV ds js'ks dks twV ds ikS/ks ds ________ ls izkIr fd;k
tkrk gS
(A) ifÙk;k¡ (B) cht
(C) tM+ (D) ruk

13. ,d lkcqu dk foy;u gksrk gS &

(A) vEyh; (B) {kkjh;

(C) mnklhu (D) dksbZ ugha

14. la;kstdrk ges'kk gksrh gS &

(A) iw.kZ la[;k (B) fHkUu la[;k

(C) n'keyo la[;k (D) buesa ls dksbZ ugha

15. fuEu esa ls dkSuls izØe izdk'k dk vo'kks"k.k djrs gS \

(A) Å/okZikru (B) ngu

(C) HktZu (D) izdk'k la'ys"k.k
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20. The algebraic expression

2 2 2 21 3x y z 3x y z
4 2

       
   

when expressed as monomial is:

(A) 3 4 39 x y z
8 (B) 2 2 21 x y z

2

(C) 3 4 38 x y z
9 (D) 3 23 x y z

4

21. Which parts contain the fractions in
ascending order?

(A) 
11 16 19, ,
14 19 21 (B) 

16 11 19, ,
19 14 21

(C) 
11 19 16, ,
14 21 19 (D) 

16 19 11, ,
19 21 14

22. In the given figure, x is greater than one
fifth of a right angle then:

B A

C

x°y°

(A) y > 162° (B) y > 162°
(C) y < 162° (D) y < 162°

23. If ABC  QRP, then which of the following
statement is correct.
(A) A = P (B) B = R
(C) A = R (D) C = Q

24. In the diagram, what is the measure of ABC?

A

B D

C
60°

(A) 45° (B) 30°
(C) 15° (D) 65°

25. Identify rational number between
1
3  and 

4
5 .

(A) 
1
4

(B) 
9

10

(C) 
17
30 (D) 

71
10

20. chth; O;atd 
2 2 2 21 3x y z 3x y z

4 2
       
   

 cjkcj gksxk

tc bls ,dinh; :i esa O;Dr fd;k tk;sxk &

(A) 3 4 39 x y z
8 (B) 2 2 21 x y z

2

(C) 3 4 38 x y z
9 (D) 3 23 x y z

4

21. fHkUuks dk dkSulk Hkkx vkjksgh Øe esa gS &

(A) 
11 16 19, ,
14 19 21 (B) 

16 11 19, ,
19 14 21

(C) 
11 19 16, ,
14 21 19 (D) 

16 19 11, ,
19 21 14

22. nh x;h vkd̀fr es a x, ,d ledks.k ds 
1
5  Hkkx ls vf/kd gS] rc &

B A

C

x°y°

(A) y > 162° (B) y > 162°
(C) y < 162° (D) y < 162°

23. ;fn ABC  QRP, rc fuEu esa ls dkSulk dFku lgh gS &

(A) A = P (B) B = R
(C) A = R (D) C = Q

24. vkdf̀r esa] ABC dk eki D;k gksxk &

A

B D

C
60°

(A) 45° (B) 30°

(C) 15° (D) 65°

25.
1
3  rFkk

4
5  ds e/; fLFkr ifjes; la[;k dks igpkfu,A

(A) 
1
4

(B) 
9

10

(C) 
17
30 (D) 

71
10
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MENTAL ABILITY

26. 7, 12, 22, 37, ?, 82, 112
(A) 62 (B) 57
(C) 52 (D) 42

27. DFK, FEL, HDM, JCN, ?
(A) KBN (B) KBO
(C) LBO (D) LBN

28.

1 4 ?

64 9 16

49 36 25
(A) 5 (B) 40
(C) 45 (D) 81

29. If the following words are arranged as found
in the dictionary, then what will be the fourth
letter from the left in the last word?
INTIMATION, INFORMATION, INTEREST,
INTERROGATION, INSTIGATION
(A) R (B) O
(C) T (D) I

30. If in any code language NATIONAL is written
as MZGRLMZO than how isa JAIPUR written in
that language?
(A) QRZKFI (B) QZRKFI
(C) QZRFKI (D) QZRIFK

31. Kishan walks 10 km towards North. From there,
he walks 6 km towards South. Then, he walks
3 km towards East. How far and in which
direction is he with reference to his starting
point?
(A) 5 km, North (B) 5 km, North-East
(C) 7 km, East (D) 7 km, West

32. What is the value of 23 × 522  87 – 14 ×
2 = ?
(A) 90 (B) 120
(C) 110 (D) None of these

33. 'Height' is related to 'Length' in the same way
as 'Weight' is related to:
(A) Length (B) Height
(C) Mass (D) Breadth

34. How many triangles are there in the following
figure?

(A) 11 or more (B) 10
(C) 9 (D) 8 or less

26. 7, 12, 22, 37, ?, 82, 112
(A) 62 (B) 57
(C) 52 (D) 42

27. DFK, FEL, HDM, JCN, ?
(A) KBN (B) KBO
(C) LBO (D) LBN

28.

1 4 ?

64 9 16

49 36 25
(A) 5 (B) 40
(C) 45 (D) 81

29. ;fn fuEu 'kCnksa dks 'kCndks'k esa ik, vuqlkj O;ofLFkr fd;k

tk, rks vfUre 'kCn esa ck,¡ ls pkSFkk o.kZ D;k gksxk &

INTIMATION, INFORMATION, INTEREST,
INTERROGATION, INSTIGATION
(A) R (B) O
(C) T (D) I

30. ;fn fdlh lkadsfrd Hkk"kk es a]  NATIONAL dks MZGRLMZO
dh rjg fy[kk tkrk gS] rc bl Hkk"kk esa JAIPUR dks fdl

izdkj fy[kk tk,xk &
(A) QRZKFI (B) QZRKFI
(C) QZRFKI (D) QZRIFK

31. fd'ku 10 fdeh- mÙkj dh rjQ pyrk gSA fQj ogk¡ ls og

6 fdeh- nf{k.k dh vkSj pyrk gS] blds ckn og 3 fdeh- iwoZ

dh vkSj pyrk gS] og vius izkjfEHkd fcUnq ls dkSulh fn'kk

esa rFkk fdruh nwjh ij gksxk &

(A) 5 fdeh- mÙkj (B) 5 fdeh- mÙkj&iwoZ

(C) 7 fdeh- iwoZ (D) 7 fdeh- if'pe

32. 23 × 522  87 – 14 × 2 = ?  dk eku D;k gksxk &
(A) 90 (B) 120
(C) 110 (D) buesa lss dksbZ ugha

33. 'Height', dk laca/k 'Length'  ls  gS] blh izdkj 'Weight'
dk laca/k fdlls gksxk &

(A) yEckbZ (B) Å¡pkbZ

(C) Hkkj (D) pkSM+kbZ

34. fuEu vkdf̀r esa ;gk¡ f=Hkqtks dh la[;k fdruh gksxh &

(A) 11 ;k vf/kd (B) 10

(C) 9 (D) 8 ;k de
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Direction (Q.35 to 36): Some friends are sitting on

a bench; Sunil is sitting next to Sunita and
Bindu is next to Sanjay, Bindu is not sitting
with Sumit. Sumit is on the left end of the
bench and Sanjay is on second position from
right hand side. Sunil is on the right side of
Sunita and Sunita is to the right of Sumit,
Sunil and Sanjay are sitting together. Based
on the above seating arrangements, answer
the following questions:

35. Sunil is sitting between:

(A) Sunita and Bindu

(B) Sumit and Bindu

(C) Sunita and Sanjay

(D) Sanjay and Sumit

36. Who is sitting in the centre?

(A) Sumit (B) Sunil

(C) Bindu (D) Sanjay

Direction (Q.37 to 38): In the following questions
choose the correct water image from
alternatives A, B, C and D.

37.

(A) (B) 

(C) (D) 

38.

12 

6 

9 3 

(A) (B) 

(C) (D) 

funsZ'k (Q.35 to 36): dqN fe= ,d csap ij cSBs gS] lquhy] lqfurk

ds vkxs rFkk fcUnq] lat; ds vkxs cSBs gS] fcUnq lqfer ds lkFk

ugha cSBh gS] lqfer csap ds vafre ck,¡ vkSj ij cSBk gS rFkk

lat; nkfgus vkSj ls nwljh fLFkr ij cSBk gSA lquhy] lqfurk

ls nkfgus vkSj ij rFkk lqfurk] lqfer ds nkfgus vkSj gSA

mijksDr cSBus dh O;oLFkk ds vk/kkj ij lqfuy rFkk lat;

,d&lkFk cSBs gSA fuEu iz'uks ds mÙkj nhft, A

35. lqfuy fdlds chp cSBk gS &

(A) lquhrk rFkk fcUnq

(B) lqfer rFkk fcUnq

(C) lqfurk rFkk lat;

(D) lat; rFkk lqfer

36. chp esa dkSu cSBk gS\

(A) lqfer (B) lqfuy

(C) fcUnq (D) lat;

funsZ'k (Q.37 to 38): iz'uksa esa ls fodYiks A, B, C rFkk D ls

lgh tyh; izfrfcEc dk p;u dhft,A

37.

(A) (B) 

(C) (D) 

38.

12 

6 

9 3 

(A) (B) 

(C) (D) 
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ROUGH WORK

39. The number opposite to 1 is :

1 
4 5 

4 
2 6 

2 
1 3 

(A) 4 (B) 6
(C) 5 (D) 3

40. In the following question, the figure is folded
to form a box. Choose from among the
alternatives the box or boxes that can be
formed by folding the figure.

(A) (B) 

(C) (D) 

39. 1 ds foijhr la[;kk gksxh &

1 
4 5 

4 
2 6 

2 
1 3 

(A) 4 (B) 6
(C) 5 (D) 3

40. fuEu iz'u esa] vkdf̀r dks eksMdj ,d ckWDl cuk;k tkrk

gS] fn, x, fodYiks esa ls ml ckWDl ;k ckDlksa  dk p;u

dhft, tks vkdf̀r dks eksMuss ij cusxkA

(A) (B) 

(C) (D) 
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